Name: ___________________________  Date: _____________
 
Directions: Solve the addition problem and circle the solution

Ethan found 4 tyrannosaurus rexes and 6 stegosauruses in the garden. How many dinosaurs did he find all together?

1	2	3	4	5	6	7	8	9	10



Ethan saw 3 wooly mammoths by the pond, then 3 more triceratopses came. How many dinosaurs in all?

1	2	3	4	5	6	7	8	9	10



[bookmark: _GoBack]Ethan found 2 stegosauruses and 8 brachiosauruses in the grass. How many dinosaurs did Ethan find?

1	2	3	4	5	6	7	8	9	10



Ethan saw 1 tyrannosaurus rex on the dirt and 3 tyrannosaurus rex on in the grass. How many tyrannosaurus rexes did he see all together?

1	2	3	4	5	6	7	8	9	10

